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R AE BM4 Eib L1134 L1137 ERAOAE ®RER
L ARl T (3.803K i) T (3.395K ) ! 5A288
PATE BLLA AFR T (3.81K5H) T (3.395K ) = 58288
& A T (3.83:KH) T (337K M 5A29A
6A28 A BER T (3.81KH) T (3.36:K ) M 5A29A8
BRCER BER T (3.83:KH) T (3.37KH) M 5A29A8
#H#2IE AEN T (3.80K ) T (337K M 6818
PAsE A—ay EmE TR (3.825K ) TR (3.38K ) =R 6818
=5 ARl TR (3.81K5H) TR (3.39K ) =R 6828
PReR BEA—XA EER T (3.80K ) T (3.38K ) =R 6828
FRy TR THEH (3.83K i) & (3.385K5m) ] 6A3A
PreR 45 EER THH (3.81KiE) THRH (3.36:K i) ] 6A3H
#H#2IE ABNIH THaH (3.82:K i) Tt (3.395K ) ! 6A4H
PRes BLHA AFR T (3.83K5) TR (339K ) ez 6848
FER BEER TigH (3.81KiH) T (3.39K ) =R 6858
6A98 E—<> TR T (3.79K ) T (337K ] 6858
IKEK A IIET T (3.81KH) TR (3.39K ) =R 6858
6A 108 SES TR TR (3.825K ) T (3.39K ) = 6H8H
3L A T (3.81KiH) T (3.38K ) = 6H8H
EX ety PN T (3.83K ) T (337K = 698
6A118 AB BER TR (3.825K ) T (3.365K ) = 698
45 BEER TR (3.81KH) T (3.365K ) = 698
oA 128 bl A TR (3.84K ) T (3.39K ) = 68108
faF BB TR (3.855KH) TR (3.39KH) = 68108
FSNAE A TR (3.825K ) T (3.39K ) = 6R118
68158  |[h¥F B TR (3.81KiH) TR (3.38KH) = 68118
125 mARE TRt (3.825KH) TRt (3.395KH) M 68110
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